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g is eaten by silkworms?

'go leaves b Tresh apple leaves
nana leaves d. Fresh mulberry leaves
these is not a natural fibre?
b. Jute

S Nylon

‘a. Grease, dust and oil b. Grease, dust and sand

‘ J,&-aase dust and dirt d. Grease, sand and dirt
5. From which of the following, is the silk thread removed?
a. Eggs b. Caterpillar
c. Pupa _gdCocoon
. 6. A carcinogen:
a. cocoon b. yarn
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8. State whether the statements are True or Faise Correct the faise statements

1. Flres obtained from anmal sources are inown a8 arwmal ftres.  Tyw &
2 Cotton s » syrthetic fire  Folf o | Coddon MMM -
3. Nyon s 8 natursl fibre.  Telse (Nq\m‘:};:;

4. Sheep reaning is the branch of animel husband’y. yuc.
S

M&nhnmmam Culte

u—&'ﬁkﬁ.‘.‘.’m R ek e

GRATAING, ndeMMmmmdhﬂjﬁl
[AGRONIG)

2. The filsments are taken out from the cocoons by a process caled _ REEAING.
(ERLEING)

3. In the progess of ....CARDI NG, . coloured fibres are combed. straghtened and rolled
ltny-'n lm ;

thlhlb“s.

Sbepmu'hgsdonemga Sl AraRAL . fibre. -
2. Fibres obtained by chemical treatment are known as .. }(hlm‘tc_'
3. Polyesterisa . SYahelic ... fibre.

4. Nw‘“@%mmnm.mm‘“
5. During s . wost-le. ;

*985 respiratory problems, etc.
E. GMMmmplsdud:dﬁnbﬂmng'
1. Woolgiving camels Mttow,(nﬂ-rﬂvuaook
2. Goats having best quality wool  leay®, Wikl G-;\.mr-l'
3. Breeds of Indian sheep Lo\l , plodi
4. Typesofsikk Yostax, ﬂooao
F. Writeonewordforﬂnfollvwi!‘: -
1. The process of removing fleece from the animal Shearing

mepf‘ocessofr‘emovingdi-cmu-amr-. Scot '

Rearing of silkworms Sext c_uL{u'(C—
The pupa stage in a moth's life cyce Ceocoom |
The process of taking outﬁlamemsflwnam

s W
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G. Reverse crossword. Write the clues for the given crossword.

K
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C p.‘q'w's"_;_f
U ey g L
R - Fleece.
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Caterpillars come
out of eggs

Caterpillars
feed on
mulberry
leaves

Pupae change
to adult moths

Caterpillars spin
cocoon around

Caterpillars
themselves

change to pupae

Fig. 3.7 Life cycle of silkworm
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Objective Type Questions.

A. Tick (v') the correct answer.

1. Melting of butter is which kind of
change?

jﬁ:’hysical
b. Chemical
c. Bothaand b
d. Neither a nor b

2. Which of these chemical reactions
involve the replacement of an element
or ion from one compound to another?

a. Double displacement reaction
JbeSingle displacement reaction
c. Oxidation-reduction reaction

d. Decomposition reaction

vovvovvwyd

3. Two or more reactants combine to

form a new product in:

a. Exothermic reaction

b. Single displacement reaction

y@ombinarjon reaction
d. Decomposition reaction

During exothermic chemical reactions,

heat is:

a. Released

b. Absorbed

c. No effect

d. First absorbed and then released

t;

(X
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m reacts we .
y

wWhen magnesiu

: 7
5. Rusting of iron can be prevented by Lo form mMagnesium oxde. ¢ «
‘EWaivan:sauon of
b. Absorption o Decompostion Neactior
c. Forming preciptate 5 Double displacement reactio
d. Reacting it with water «_£ombination reaction
6. Carbon reacting with sulphur to give Y Precipitation reaction
carbon disulphide while absorbing heat ) PR
is an example of: 8. In a chemical reaction. 1 8 hquid tyr-
, into gas, then it is 8
a. exothermic reaction 9
Wange in state

b. precipitation reaction
, - b. Change n enerygy
c. oxidation reaction

| c. Endothermic reaction
| Gendothermic reaction

d. Formation of precipitate

B. State whether the following statements are True or False. Correct the false statements

| E I O ' o
1. A chemical reaction is the symbolic representation of a g_hgijlﬂf!f equation t
Matter exists in three forms—solid, liquid and gas. Taue

ol

In a single displacement reaction, one compound displaces another compound.

In a precipitation reaction, an insoluble substance is formed by mixing two solutions s

Change in colour is a kind of physical change.  Fel £ e

S L

Forming of a precipitate is a chemical change. "Y'y €
C. Unscramble the letters to find the answers.

- i
1 The method used to prevent rusting (NILANGGAVSI) GAL VAR SATH

The chemical reaction in which heat is released (EROCHMITXE) € x0T uv £

2.

3 The chemical reaction in which heat is absorbed (OTHNEREMCID) € wITNoy T 17 47

4. The chemical reaction in which a compound breaks down into two or more components due
to breaking of bonds. (MOPOCSIDTIENO) DE C.oH Po ST 47 orl

5. The word which is also used to denote an oxidation-reduction reaction (OEXDR) ‘2;‘_ oW

6. A change where no new substance is formed (YIHPSCLA) PHYST cAalL

7. A change where there is a change of energy (MHELICAC) C HEM Y cpl

8. An insoluble substance formed when two solutions react (TPECRIITPAE) pRECT 1
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p Hdlin the blanks

| Ina (pm“m"ﬂﬂ-um:lmn LWo Or more reactants combine to form a new product.

vOAD L P reaction 1s also known as redox reaction.
' .I.‘al:.\n avrd Q¢ duc hon .
\ f\““mmlmn s used o separate a solid solute froma ... Selrend-

4 When two solutions are mixed, cations and anions of the reactants combine to form the

gold, Known as ..

solution s formed.

'_‘l\wu‘,k r.":‘-}"nr «.vve f- ‘Lﬂo ehio

% \When iron nails are dipped in copper sulphate solution, a green-coloured

¢ When magnesium reacts with oxygen, it produces ﬂﬂj raAfara o wide

-

Meat s absorbed in

-

Short Answer Questions.

I \What 18 a precipitation reaction?

S Dl the change in state with one
@xample.

3 \What are endothermic reactions?

Long Answer Questions.

' Dfferentiate between physical and

chemucal reactions. Explain with
@xamples

S \What are endothermic and exothermic
chemwcal reactions? Give one example
each Lo sUPPOrt your answer.

3 Brety explan the different types of

chemucal reactions

Brefly explan the charactenistics of

chemical chai ges

&=

LR

Sve two examples each for explaining
change n state and change in colour
Jurng @ chenmucal reaction.

t.‘

.........................

c““\c’“ﬂt e,

When carbon reacts with oxygen to form carbon dioxide heat is ..... &Q_.\,Qaﬂd _

Give an example of an oxidation-
reduction reaction.

Is crystallisation a physical change or a
chemical change? Why?

Explain displacement and double
displacement reactions using examples.
What are the two methods of
separating a solid from a liquid?

Melting of wax is a physical change,
whereas burning of wax is a chemical
change. Why?

Conversion of organic matter into biogas
is @ chemical change. Explain why.
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EMMANUEL SCHOOL

BIOLOGY ASSIGMENT NO-04

With answer

CH-10(RESPIRATION) BY- Rites srivastava
Fill in the black

Q1.we can not, survive without ..........cccceeuvueenes ,

Q2. We respire by using .......cc......... And .............

Q3. The presence of ......cccceeeveeeenene gas is essential in the

atmosphere for respiration.

Q4. We take in .....cccveeueenee. and give out .............. during breathing.
Q5. o help us breathing

Q6. Exchange of gases in the leaves take place with the help of .........
Q7. Diaphragm forms the ................ Of the chest cavity.

Q8. Respiration is process the provides .............. to the body.

Match the following

Colum | colum
a). Butter fly i). lungs
b). Earth warm ii). Gills
c). Sparrow iii). Spiracles
d). Fish iv) Skin

Short question answer.
Q1. What is respiration?

Q2. What is anaerobic respiration?



Q3. Where is diaphragm located in human body?

Q4. Name respiratory organ of frog.

Q5. Name the respiratory organ of earthworm.

Q6. How does exchange of gases take place in insects?
Q7. Name the respiratory organ of bird.

Q8. What is the end product of anaerobic respiration?
Q9. Why do we respire?

Q10. Why we should eat regularly?

Long question answer

Q1. What happens to the air we breathe in ?

Q2. Differentiate between aerobic and anaerobic respiration.
Q3. Why we feel hungry after a physical activity?

Activity;

Q1. Draw a labelled diagram show inhalation and exhalation process
in human beings.

Q2. Draw a labelled diagram of insects tracheal system.
Answer of above assignment:
Fill in the blanks ..

A/s

Q1. Respiration

Q2. Mouth and nose

Q3. Oxygen

Q4. Oxygen and carbon dioxide



Q5.lungs
Q6. Stomata
Q7.Floor

Q8. Energy
A/s of match of the following:

Q1l.a spiracles
.b skin
.c lungs

.d gills
A/s of short q/a

Q1. The process of oxidation of food to release energy from absorb
food in living cell

Q2. The respiration which takes places in the absence of oxygen is
called anaerobic

Q3. Below the lungs.

Q4. Skin and lungs

Q5. Moist skin

Q6. Exchange gas take place in insect through spiracles into trachea.
Q7. Lungs

Q8. Co2, alcohol, and energy

Q9. We respire to use the oxygen, to oxidise our food and release
energy . this is similar like burning but a slower process it also need
respiratory enzymes . respiration is a slower process than burning
and energy release can be stored for later use

C6h1206+ 02............ H20+ co2+ energy



Q10. The food has stored energy which is released during respiration
thus we should eat regularly

A/s of long Q/a

Q1. The air we breath in transported to every parts of body and
ultimately it is transported to each cell, in the cells oxygen in the air
help in the breakdown of food this process of breakdown of food in
the cell with the release of energy is called cellular respiration .

Q2 . The air we breath in transported to every parts of body and
ultimately it is transported to each cell, in the cells oxygen in the air
help in the breakdown of food this process of breakdown of food in
the cell with the release of energy is called cellular respiration .
cellular respiration take place / occurs in the cell of all organism.

Q3. Aerobic respiration Anaerobic respiration
1. An aerobic respiration takes place 1. Where an anaerobicr
Using 02 ,inhales in breathing . —espiration requires

2. In aerobic respiration ,breathing of no o2
Glucose result in production of co2 2.in aerobic respiration t
,water and energy -he breakdown of gulco

3. An aerobiic respiration uses respiratory  -se first result in lactic
Organs such as lungs acid and energy and
This break into co2, h2o
3.aerobic respiration take pla
-ce at cellular or muscular

Leve

By- Ritesh srivastava



EMMANUEL SCHOOL
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With answer
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Q5. o help us breathing

Q6. Exchange of gases in the leaves take place with the help of .........
Q7. Diaphragm forms the ................ Of the chest cavity.
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b). Earth warm ii). Gills
c). Sparrow iii). Spiracles
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Short question answer.
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Q2. What is anaerobic respiration?



Q3. Where is diaphragm located in human body?

Q4. Name respiratory organ of frog.

Q5. Name the respiratory organ of earthworm.

Q6. How does exchange of gases take place in insects?
Q7. Name the respiratory organ of bird.

Q8. What is the end product of anaerobic respiration?
Q9. Why do we respire?

Q10. Why we should eat regularly?

Long question answer

Q1. What happens to the air we breathe in ?

Q2. Differentiate between aerobic and anaerobic respiration.
Q3. Why we feel hungry after a physical activity?

Activity;

Q1. Draw a labelled diagram show inhalation and exhalation process
in human beings.

Q2. Draw a labelled diagram of insects tracheal system.
Answer of above assignment:
Fill in the blanks ..

A/s

Q1. Respiration

Q2. Mouth and nose

Q3. Oxygen

Q4. Oxygen and carbon dioxide



Q5.lungs
Q6. Stomata
Q7.Floor

Q8. Energy
A/s of match of the following:

Q1l.a spiracles
.b skin
.c lungs

.d gills
A/s of short q/a

Q1. The process of oxidation of food to release energy from absorb
food in living cell

Q2. The respiration which takes places in the absence of oxygen is
called anaerobic

Q3. Below the lungs.

Q4. Skin and lungs

Q5. Moist skin

Q6. Exchange gas take place in insect through spiracles into trachea.
Q7. Lungs

Q8. Co2, alcohol, and energy

Q9. We respire to use the oxygen, to oxidise our food and release
energy . this is similar like burning but a slower process it also need
respiratory enzymes . respiration is a slower process than burning
and energy release can be stored for later use

C6h1206+ 02............ H20+ co2+ energy



Q10. The food has stored energy which is released during respiration
thus we should eat regularly

A/s of long Q/a

Q1. The air we breath in transported to every parts of body and
ultimately it is transported to each cell, in the cells oxygen in the air
help in the breakdown of food this process of breakdown of food in
the cell with the release of energy is called cellular respiration .

Q2 . The air we breath in transported to every parts of body and
ultimately it is transported to each cell, in the cells oxygen in the air
help in the breakdown of food this process of breakdown of food in
the cell with the release of energy is called cellular respiration .
cellular respiration take place / occurs in the cell of all organism.

Q3. Aerobic respiration Anaerobic respiration
1. An aerobic respiration takes place 1. Where an anaerobicr
Using 02 ,inhales in breathing . —espiration requires

2. In aerobic respiration ,breathing of no o2
Glucose result in production of co2 2.in aerobic respiration t
,water and energy -he breakdown of gulco
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Objective Type Questions.

A. Tick (v') the correct answer.

1. Melting of butter is which kind of
change?

jﬁ:’hysical
b. Chemical
c. Bothaand b
d. Neither a nor b

2. Which of these chemical reactions
involve the replacement of an element
or ion from one compound to another?

a. Double displacement reaction
JbeSingle displacement reaction
c. Oxidation-reduction reaction

d. Decomposition reaction

vovvovvwyd

3. Two or more reactants combine to

form a new product in:

a. Exothermic reaction

b. Single displacement reaction

y@ombinarjon reaction
d. Decomposition reaction

During exothermic chemical reactions,

heat is:

a. Released

b. Absorbed

c. No effect

d. First absorbed and then released

t;
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m reacts we .
y

wWhen magnesiu

: 7
5. Rusting of iron can be prevented by Lo form mMagnesium oxde. ¢ «
‘EWaivan:sauon of
b. Absorption o Decompostion Neactior
c. Forming preciptate 5 Double displacement reactio
d. Reacting it with water «_£ombination reaction
6. Carbon reacting with sulphur to give Y Precipitation reaction
carbon disulphide while absorbing heat ) PR
is an example of: 8. In a chemical reaction. 1 8 hquid tyr-
, into gas, then it is 8
a. exothermic reaction 9
Wange in state

b. precipitation reaction
, - b. Change n enerygy
c. oxidation reaction

| c. Endothermic reaction
| Gendothermic reaction

d. Formation of precipitate

B. State whether the following statements are True or False. Correct the false statements

| E I O ' o
1. A chemical reaction is the symbolic representation of a g_hgijlﬂf!f equation t
Matter exists in three forms—solid, liquid and gas. Taue

ol

In a single displacement reaction, one compound displaces another compound.

In a precipitation reaction, an insoluble substance is formed by mixing two solutions s

Change in colour is a kind of physical change.  Fel £ e

S L

Forming of a precipitate is a chemical change. "Y'y €
C. Unscramble the letters to find the answers.

- i
1 The method used to prevent rusting (NILANGGAVSI) GAL VAR SATH

The chemical reaction in which heat is released (EROCHMITXE) € x0T uv £

2.

3 The chemical reaction in which heat is absorbed (OTHNEREMCID) € wITNoy T 17 47

4. The chemical reaction in which a compound breaks down into two or more components due
to breaking of bonds. (MOPOCSIDTIENO) DE C.oH Po ST 47 orl

5. The word which is also used to denote an oxidation-reduction reaction (OEXDR) ‘2;‘_ oW

6. A change where no new substance is formed (YIHPSCLA) PHYST cAalL

7. A change where there is a change of energy (MHELICAC) C HEM Y cpl

8. An insoluble substance formed when two solutions react (TPECRIITPAE) pRECT 1
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p Hdlin the blanks

| Ina (pm“m"ﬂﬂ-um:lmn LWo Or more reactants combine to form a new product.

vOAD L P reaction 1s also known as redox reaction.
' .I.‘al:.\n avrd Q¢ duc hon .
\ f\““mmlmn s used o separate a solid solute froma ... Selrend-

4 When two solutions are mixed, cations and anions of the reactants combine to form the

gold, Known as ..

solution s formed.

'_‘l\wu‘,k r.":‘-}"nr «.vve f- ‘Lﬂo ehio

% \When iron nails are dipped in copper sulphate solution, a green-coloured

¢ When magnesium reacts with oxygen, it produces ﬂﬂj raAfara o wide

-

Meat s absorbed in

-

Short Answer Questions.

I \What 18 a precipitation reaction?

S Dl the change in state with one
@xample.

3 \What are endothermic reactions?

Long Answer Questions.

' Dfferentiate between physical and

chemucal reactions. Explain with
@xamples

S \What are endothermic and exothermic
chemwcal reactions? Give one example
each Lo sUPPOrt your answer.

3 Brety explan the different types of

chemucal reactions

Brefly explan the charactenistics of

chemical chai ges

&=

LR

Sve two examples each for explaining
change n state and change in colour
Jurng @ chenmucal reaction.

t.‘

.........................

c““\c’“ﬂt e,

When carbon reacts with oxygen to form carbon dioxide heat is ..... &Q_.\,Qaﬂd _

Give an example of an oxidation-
reduction reaction.

Is crystallisation a physical change or a
chemical change? Why?

Explain displacement and double
displacement reactions using examples.
What are the two methods of
separating a solid from a liquid?

Melting of wax is a physical change,
whereas burning of wax is a chemical
change. Why?

Conversion of organic matter into biogas
is @ chemical change. Explain why.
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EMMANUEL SCHOOL
Biology Assignment no-3

CLASS-VII[CH-7]

Fill in the blank with the correct word.

(@ 1 R Is know as the ship of desert.

Q2. Polar bear is found across the ..................

Q3. Earth move around the ............... in the solar system.

Q4.Match the animal mentioned in column 1, with their
characteristic feature given in column2, .

Columnl. Column 2.

[a] Red eyed frog [1] very sensitive hearing
[b] penguin [2] streamlined body

[c] Tiger [3] silver-white mane

[d] lion —tailed macaque [4] sticky pads on feet

Q5. Why is it difficult to predict the weather of a place while
it is easy to predict its climate?

Q6. Name two animals each that live in polar region and
tropical rain forests.

Q7. Write two common adaptive features of a polar bear
which help in keeping it warm .

Q8. Meantion two adaptive features of penguin that help it in
swimming.



Q9. Differentiate between :

1. weather and climate

2. humidity and rainfall

3.climates of polar region and tropical rain forest

4. maximum and minimum temperatures of the day

Q10. Explain the factors determining the climate of a place.

By — Ritesh Srivastava



